




This was a popular question that was answered by most students with little difficulty. The most
common mistake was in the trigonometry in part a, or in students using degrees instead of radians.







This question was tackled by a majority of students and generally answered fairly well. Some
appeared confused about how to calculate the maximum horizontal capacity, but the written 
answers in parts c and d demonstrated a good understanding of the physics of the problem 
at hand in most cases. 


















